## CaptivateIQ

Sales Reps	Base Salary	Sales	Commission (%)	Commission (\$)	Net Salary
SR1	\$4,000.00	\$18,100.00	10%	1810	\$5,810.00
SR2	\$4,500.00	\$21,300.00	10%	2130	\$6,630.00
SR3	\$3,500.00	\$15,300.00	10%	1530	\$5,030.00
SR4	\$3,000.00	\$17,300.00	10%	1730	\$4,730.00
SR5	\$4,000.00	\$15,000.00	10%	1500	\$5,500.00
SR6	\$4,500.00	\$12,400.00	10%	1240	\$5,740.00
SR7	\$3,500.00	\$20,600.00	10%	2060	\$5,560.00
SR8	\$3,000.00	\$22,500.00	10%	2250	\$5,250.00
SR9	\$4,000.00	\$11,500.00	10%	1150	\$5,150.00
SR10	\$4,500.00	\$11,000.00	10%	1100	\$5,600.00
Total			\$16,500.00	\$55,000.00	

Sales Rep	Date	Description	Sales Amount
SR1			\$100.00
SR1			\$200.00
SR2			\$300.00
SR3			\$400.00
SR2			\$500.00
SR4			\$600.00
SR5			\$700.00
SR1			\$800.00
SR6			\$900.00
SR7			\$1,000.00
SR8			\$100.00
SR9			\$200.00
SR10			\$300.00
SR1			\$400.00
SR7			\$500.00
SR4			\$600.00
SR8			\$700.00
SR2			\$800.00
SR5			\$900.00

SR1	\$1,000.00
SR1	\$100.00
SR6	\$200.00
SR6	\$300.00
SR4	\$400.00
SR3	\$500.00
SR8	\$600.00
SR3	\$700.00
SR6	\$800.00
SR6	\$900.00
SR2	\$1,000.00
SR6	\$100.00
SR7	\$200.00
SR2	\$300.00
SR7	\$400.00
SR3	\$500.00
SR8	\$600.00
SR4	\$700.00
SR2	\$800.00
SR3	\$900.00
SR1	\$1,000.00
SR6	\$100.00
SR4	\$200.00
SR3	\$300.00
SR7	\$400.00
SR7	\$500.00
SR7	\$600.00
SR8	\$700.00
SR1	\$800.00
SR6	\$900.00
SR4	\$1,000.00
SR7	\$100.00
SR6	\$200.00
SR1	\$300.00
SR1	\$400.00
SR8	\$500.00
SR1	\$600.00
SR1	\$700.00
SR8	\$800.00
SR9	\$900.00
SR5	\$1,000.00

SR10	\$100.00
SR3	\$200.00
SR4	\$300.00
SR9	\$400.00
SR4	\$500.00
SR10	\$600.00
SR4	\$700.00
SR2	\$800.00
SR6	\$900.00
SR2	\$1,000.00
SR10	\$100.00
SR6	\$200.00
SR8	\$300.00
SR8	\$400.00
SR6	\$500.00
SR2	\$600.00
SR3	\$700.00
SR1	\$800.00
SR10	\$900.00
SR3	\$1,000.00
SR5	\$100.00
SR3	\$200.00
SR4	\$300.00
SR3	\$400.00
SR4	\$500.00
SR10	\$600.00
SR6	\$700.00
SR4	\$800.00
SR4	\$900.00
SR7	\$1,000.00
SR9	\$100.00
SR4	\$200.00
SR1	\$300.00
SR6	\$400.00
SR8	\$500.00
SR8	\$600.00
SR7	\$700.00
SR8	\$800.00
SR6	\$900.00
SR7	\$1,000.00
SR2	\$100.00

SR7	\$200.00
SR6	\$300.00
SR1	\$400.00
SR10	\$500.00
SR1	\$600.00
SR9	\$700.00
SR4	\$800.00
SR9	\$900.00
SR2	\$1,000.00
SR10	\$100.00
SR8	\$200.00
SR5	\$300.00
SR2	\$400.00
SR7	\$500.00
SR2	\$600.00
SR10	\$700.00
SR2	\$800.00
SR4	\$900.00
SR2	\$1,000.00
SR9	\$100.00
SR7	\$200.00
SR6	\$300.00
SR7	\$400.00
SR8	\$500.00
SR2	\$600.00
SR7	\$700.00
SR2	\$800.00
SR8	\$900.00
SR7	\$1,000.00
SR1	\$100.00
SR1	\$200.00
SR8	\$300.00
SR8	\$400.00
SR5	\$500.00
SR8	\$600.00
SR4	\$700.00
SR9	\$800.00
SR1	\$900.00
SR10	\$1,000.00
SR6	\$100.00
SR9	\$200.00

SR7	\$300.00
SR1	\$400.00
SR5	\$500.00
SR3	\$600.00
SR2	\$700.00
SR8	\$800.00
SR7	\$900.00
SR8	\$1,000.00
SR8	\$100.00
SR4	\$200.00
SR5	\$300.00
SR3	\$400.00
SR4	\$500.00
SR5	\$600.00
SR4	\$700.00
SR6	\$800.00
SR3	\$900.00
SR2	\$1,000.00
SR1	\$100.00
SR1	\$200.00
SR1	\$300.00
SR3	\$400.00
SR4	\$500.00
SR10	\$600.00
SR8	\$700.00
SR1	\$800.00
SR8	\$900.00
SR5	\$1,000.00
SR10	\$100.00
SR3	\$200.00
SR7	\$300.00
SR2	\$400.00
SR5	\$500.00
SR5	\$600.00
SR9	\$700.00
SR7	\$800.00
SR2	\$900.00
SR8	\$1,000.00
SR7	\$100.00
SR10	\$200.00
SR8	\$300.00

SR9 SR8 SR4	\$400.00 \$500.00
	\$500.00
SR4	2000 00
0040	\$600.00
SR10	\$700.00
SR8	\$800.00
SR2	\$900.00
SR6	\$1,000.00
SR6	\$100.00
SR4	\$200.00
SR7	\$300.00
SR10	\$400.00
SR5	\$500.00
SR9	\$600.00
SR7	\$700.00
SR5	\$800.00
SR8	\$900.00
SR2	\$1,000.00
SR2	\$100.00
SR2	\$200.00
SR8	\$300.00
SR6	\$400.00
SR3	\$500.00
SR4	\$600.00
SR10	\$700.00
SR8	\$800.00
SR5	\$900.00
SR7	\$1,000.00
SR3	\$100.00
SR6	\$200.00
SR5	\$300.00
SR7	\$400.00
SR5	\$500.00
SR10	\$600.00
SR10	\$700.00
SR10	\$800.00
SR2	\$900.00
SR2	\$1,000.00
SR8	\$100.00
SR8	\$200.00
SR5	\$300.00
SR10	\$400.00

SR9	\$500.00
SR6	\$600.00
SR2	\$700.00
SR10	\$800.00
SR8	\$900.00
SR1	\$1,000.00
SR8	\$100.00
SR2	\$200.00
SR5	\$300.00
SR6	\$400.00
SR4	\$500.00
SR3	\$600.00
SR7	\$700.00
SR1	\$800.00
SR5	\$900.00
SR1	\$1,000.00
SR7	\$100.00
SR3	\$200.00
SR2	\$300.00
SR2	\$400.00
SR2	\$500.00
SR3	\$600.00
SR8	\$700.00
SR8	\$800.00
SR3	\$900.00
SR4	\$1,000.00
SR5	\$100.00
SR6	\$200.00
SR9	\$300.00
SR9	\$400.00
SR4	\$500.00
SR3	\$600.00
SR3	\$700.00
SR7	\$800.00
SR7	\$900.00
SR1	\$1,000.00
SR3	\$100.00
SR1	\$200.00
SR2	\$300.00
SR7	\$400.00
SR3	\$500.00

SR4	\$600.00
SR7	\$700.00
SR1	\$800.00
SR5	\$900.00
SR7	\$1,000.00
SR5	\$100.00
SR3	\$200.00
SR3	\$300.00
SR2	\$400.00
SR5	\$500.00
SR9	\$600.00
SR8	\$700.00
SR3	\$800.00
SR3	\$900.00
SR1	\$1,000.00
SR10	\$100.00
SR9	\$200.00
SR9	\$300.00
SR1	\$400.00
SR4	\$500.00
SR9	\$600.00
SR5	\$700.00
SR7	\$800.00
SR5	\$900.00
SR9	\$1,000.00
SR9	\$100.00
SR9	\$200.00
SR5	\$300.00
SR1	\$400.00
SR8	\$500.00
SR9	\$600.00
SR9	\$700.00
SR4	\$800.00
SR8	\$900.00
SR7	\$1,000.00